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S0, oA T E 0.012 <0.00054 0.002 0.005 <0.00054 0.001 0.005 <0.00054 0.002 0.012 0.004 0.002 0.075
(ppm) pTiag 0.002 <0.00054 0.001 0.002 <0.00054 0.001 0.003 <0.00054 0.001 0.003 <0.00054 0.001 —
NO, Bt ol EEL S E 0.021 0.030 0.018 0.028 0.011 0.020 0.024 0.002 0.016 0.028 0.026 0.027 0.1
(ppm) pTisg 0.009 0.011 0.006 0.017 0.006 0.011 0.012 0.009 0.009 0.018 0.013 0.011 -
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A (pg/md) 24 | FE S 10.7 7.03 10.4 4.39 5.92 7.80 0.88 10.80 6.92 3.58 491 5.77 -
LA # # % 330 Ao E - (=} [ # Ao E LS & -
B i (M/s) PSE 1.3 1.0 1.7 0.8 0.4 0.6 1.4 0.9 0.9 0.9 0.2 14
= £24 | PR ' ' ' ' ' ' ' ' ' ' ' '
2R (C) pTiaE 30.5 26.3 30.5 29.7 28.0 30.2 30.6 27.6 27.3 30.9 26.0 28.8 -
HHER (%) RS 66 92 80 78 86 76 80 78 80 60 85 71 -
AR g/m? # 6.9 6.9 6.7 6.6 5.9 6.5 6.4 6.3 6.2 7.0 6.0 6.4 -
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SAIMBEIE—Pd FALARS - UBRAT RIS 12 5% 35 Tpldpe Be
%6 FRRABRTEPRSEREL
o %

7 B MDL | A. A. Ax B. B. B C. of c. |7
" k&8

(H =) ;

o
pH — 8.1 8.2 8.2 8.2 8.2 8.2 8.2 8.2 8.2
KECC) | — | 304 | 300 | 2906 | 316 | 313 | 309 | 306 | 302 | 208 | —

%3 E(mglD)| — 65 6.3 6.2 65 6.3 6.1 6.6 6.4 62 | >5.0
oo = A
RaEw o) 9.4 100 | 16.2 9.8 6.6 6.8 108 | 138 | 105 | —
(mg/L)

@R (psu) | — | 303 | 306 | 309 | 303 | 305 | 307 | 282 | 287 | 290 | —
;%Pg)ii(m) — 07 — — 07 — — 04 — —_ | =

/ w g

2EFIER L 10 | 0016 | 0037 | 0162 | 0172 | 0088 | 0050 | 0.098 | 0030 | — | <30
(mg/L)
tEZ3 g

15 | 45 43 46 44 47 40 41 41 41 | —
(mg/L)

wgs(mg/L) | 0.002 | 0.036 | 0.040 | 0.041 | 0.046 | 0051 | 0055 | 0051 | 0050 | 0056 | —

@F(mg/l) | 010 | 120 | 074 | 060 | 112 | 079 | 075 | 087 | 061 | 085 | —
£F(mg/L) | 001 | 031 | 059 | 026 | 027 | 025 | 029 | 027 | 026 | 029 | —
o Prus, §

RETRE 009 | 112 | 065 | 052 | 100 | 067 | 063 | 079 | 051 | 074 | —
(mg/L)

Aa@m(mg/L)| 006 | 031 | 034 | 031 | 048 | 049 | 048 | 032 | 040 | 044 | —
EAER | 0007 | 003 | 003 | 003 | 003 | 003 | 003 | 003 | 003 | 003 | —
(mg/L)

# "5 (mg/L) 1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <1.0 <2

@wm(mg/ll) |0.0029] ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 0005
< B _

cruroomy)| 10 80 70 15 <10 | <10 10 10 40 <10
# (mg/L) | 0.0003 | 0.00061 | 0.00059 | 0.00056 | 0.00063 | 0.00060 | 0.00058 | 0.00067 | 0.00060 | 0.00057 | —
#(mg/L) |0.00001] 0.00002 | 0.00002 | 0.00002 | 0.00002 | 0.00001 | 0.00001 | 0.00001 | 0.00002 | 0.00002 | —
#(mg/L) | 0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | <0.0050 | 0.05
A (mg/L) |0.00015| N.D. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | N.D. | 0001
#(mg/L) |0.00001] 0.00037 | 0.00055 | 0.00045 | 0.00050 | 0.00045 | 0.00048 | 0.00040 | 0.00054 | 0.00042 | 0.03
#(mg/L) |0.00001] 0.00058 | 0.00077 | 0.00054 | 0.00067 | 0.00067 | 0.00062 | 0.00055 | 0.00078 | 0.00056 | 0.1
&-(mg/L) |0.00001] 0.00020 | 0.00029 | 0.00044 | 0.00020 | 0.00041 | 0.00017 | 0.00019 | 0.00050 | 0.00039 | 0.01
#(mg/L) |0.00001] 0.00203 | 0.00271 | 0.00275 | 0.00360 | 0.00413 | 0.00328 | 0.00314 | 0.00322 | 0.00314 | 0.5

EE% 1000004 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)
Z5+ 1500004 ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)

4| * 1 160000sf ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01

| (mg)
|~ looooos ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)
B BN
';fngjz) 0.00025/<0.00025|<0.00025(<0.00025|<0.00025(<0.00025|<0.00025|<0.00025|<0.00025(<0.00025| 0.1
- = 1500005| ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | ND. | 01
(mg/L)

xiahp#H 112&7 " 317 o

18




F#’?a);}\;J'é_E E’ o /ﬁs Iki"”‘ )J'é 112 & :): 3 ij‘;/?'ﬁ‘ﬁ?

E&

10.0

L+ EpH

BR3A BRXNB BRC

. T A K R A AR 7585

n—
ca|ca)en|—|en = t":wrc\-— = Lot ] ] =] Bt Eii] ] D Ed ] V] Lo
SIEEIZE1E = JA] D 2] o = ZIELEIEEEIEIEEEE
Q\CECEDNNNNMM("‘("'\.'NN\.'ﬂvﬁvﬁvﬁddddr‘r‘r‘r‘aﬁaﬁaﬁaﬁ@c{c{c{cdcd = [ L] Ean
[o Law] (el L] [ao] [an] [aw] (o] fan] o] [on] (a] [on] (o] [an] [on] (o] fon] [a] [on] (o] [an] [on] (an) (] (o] o] [on] (o] fan] (ao] [an] (o] [an] fon] (o}

b Lo 1 —ir—ir—r—i—i —ir—ir—r—i—i—r — 1 I 1 1 1 1 1 1 1 11

_

HIRpEE &L H ]

. "

£ A

10.0

& pH

BR3A BR%B BREC

. T HA IR K A K H AR £ 7.5~8.5

L] o o L=a) o L=a) o L=a) o™ b==] B f=a) o™ L=a) o™
— = = = = = = = = =] |= = = = =
(=3 = i [} [ae} 3 = = ) [a) =l =] - [ o0
L= = = = = = = = = =] |= = = = =
AR e T AR
L

10808
109.03
109.07
11003
110,08
111.02
111.07
11202
11207

10.0

T & pH

_ 2 40 58 A B K 4B BT 585

BR3sA BA BB @A xEC

o™ o o o o o o o o oo o o st = (=)

— =1 =1 =] =1 =] =1 =] =1 =1 =1 =| |= = =

=3 = [ [ ol ori = = ) a) =l =] [ = od

=N = = = = = = = = = = =| |= = =

533 P 7] TN )
% AT

110.08
111.02
111.07
112.02
112.07

108.08
109.03
109.07
110.03

19



E&

—— ) e () T
——— L v — 0 C M s
3 —— ks S — 0 C — —— -
. II T 3 I_ iy 3 (]
2 my 3 & ——
3 ————— & ] ———) ) a8 =
= ——— = e ——) ——— -
—— — m —— ] | ) aa] —————— L
. II 00 ——— 500 o ———— )
= o = T = ———
=4 — 3 —— [ ——
% ———— () ( = i & g
a8 L1601 B ) ot
o [ < E0G0L
- S060L < 3 i g
£0601 4P 3 ® oo
e DLR0L il i = 0t
4 S0R0L A 1 oL
= SOR0L @ 3 a cxngll
‘ oz F B 60LOL &
2 i = L E 90ZL0L
= 60L0L & Rt wor
& 90L0L F o
n ot 3 60901
fh L1900 3 St
™ 60901 [ o0
g S000L - ot
o £090LC - 150
o [Lsol 3 o
S 8001 [ D
5 tnsor e ———— Y
——) ) )
u,,ﬁ —— () 7
; —— () )
. T1t0
o o o o0 o o o o
S rmcermencacd =B - - = i~
= A L = s = s =) T L I B/ LS
=+ o AN - =
e &y AL
(Do) BN b (Do) B

TR v ]

20




E&

SAxEA BRI ¥B B8R 35C

TRk R K G AR

LOT

S0¢

i) |

SR A @A 3B AR HC

LK B K Y AT

#a T HY R

0.0

BRlxA BR 3B @RA3EC

Bk AKERE

L #agh

L0T

SO0¢T

cot

L0

SO

1o

800
SO0

£00

[N

LO60
SO60
£060
0180
S0°80
SO'80
Z0'80
01L0
60°L0
90°L0
£0L0
1190
6090
S090
£090
1150
800
SO0
£00

LLY0

FO 0

L0 0

LLED
60t0
90't0
£0E0
[}
607T0
SOTO

fi i) |

£0T0
Lol
L0001
0001
ZL66

LR 28]

L
=

R A

21



E&

B R 5 AR x5 BE A 35 C

30.0 ~

(/)T
a0
@] = 00
o ry e —
M —rd ——— ()
T ——————— () 53 —— ()
a B -0
m = N
m e 300
= £ - 500
= 74 -l
a (=)
< <
2 &
X ®
a
E = F
H H H
# 2 #
m 1] m &l m ksl
Ed ES S
oo oo ot
i L 5
= < < <= < < < < <= <= <
o w =) = =) o =) =) o
(1303 @ £ W b (T3 F @£ F & L

(1AM E LT T

S vt R

*
=

iR

EER T

{

Bk R

22



E&

BAxEA @R 3B BR35C

=|=l— === ===

il

] (] ] R (] ] o ! ] i) [

i
=
o] o] Foe] o

p=a}
=

#5 T H R

BasEA @R ¥»B BR3EC

5 T HY R

B/AxEA BR3B BRXC

g ] sl el ] L i () D] BT e

I

e,
=
=

] (=2
=

fi i) |

)

Bl g

4L
=2

23



E&

=
d

Bl 112 £ 5 3 % L pldRs

SR A B8R %B BARXC

10.00

] ]
=] =]
\o

00

o =
(W) % b % & T

=
<
o

45 T H#1 1]

0.00

SA3EA BRI3B BR¥C

L0T

S0T

0T

48

L0

S0

[l

1o

800

SO0

£00

LL60

LO'60

S060

£060

0180

8080

SO'80

Cos80

0140

60°L0

90°L0

£0L0

1190

6090

S090

55T H ]

773 (e T

10.00 -

8.00 -

(ur)

(]

SR 35 A @3B B xsC

L0T

S0T

ot
48

L0

SO

oo
L

800

SO0

£00

LL60

LO6O

SO60

£060

0180

8080

SO'80

CO80

OLLD

60°LD

90°L0

£0LD

LL90

6090

45 TR

I P [e T

10.00 ~

8.00 -

1
=
<
o

(1) ¥

T
[}
<

o o

> S 3

=t (o] [an]
Ha % & oL

LR 28]

Bl

3
=

24



E&

=
d

Bl 112 £ 5 3 % L pldRs

BAxEA BREB @R EC

KA KT AR A3

i 2=

LHA

48T 8 6]

R ¥A @RXSB @R C

KAEAHARE3

i 2=

LHA

U
=y
8
m
=y
a
<
g
7 Y,
7 -
m m;
2 %
-
%
4
Ty
N
S
°© o o o
(R 9

o
2 0

58 T H# ]

#

<
o

B s
ad

0 N

n
=7

25



E&

SR A BRIXEB BR35C

26

0
o E__ 0N o
-5 — (7 Ey
® | =
~ IFG ~
&8 .ﬂ“g, %]
0
— 50 r S— | 0 A
9 —— 0 5
= em— () =
3 — ) () =
-] , 7]
< <
& a
= :
J n ﬂ
i ¥ k.
w—— | |
TEE— )
—————| ()
T_
3 & mﬁ mﬂ
o J g
T T 1 ey

nU =]
5

=
o
@wém eEUHT

20.0 -




R A BRI E P I FEERY-IRBT

PRrE 112 £ 5 35 S RlARE

E&

+ R 4wk (mg/L)
< e o
E=N [ co

<
o

02.05

04,04 Jmw

04,00

0411 | ]

02.09

7508

B A B8R 3%EB B8R 3EC

Y PFPPN 1 [ TTTTITT]
ofzlzlzle ol ol gl ==l lefols
CEEEEEEEEE SRR

—
=

oo

PR LEH(me/L)_
= o

()

et
o

AEA @R3EB BRI 3C

.l... s Gn _l_

p A ) = 2=l ] e =

cifoifed ==l o ] i
5 T HH R

5 (mg/L)

48

éT@¢
] =

.
o

0200

0211

A A BR3EB BR¥C

0802 b

0805 @

200
207 jmm

5T HAN]

Bl 36 fr= s

KRR Rl % R

27



E&

BAxs ABR3EBE R 3C

— = 7

M 07 @) w— (7

———— | |

— | M — )

W —————— Fy ——————

= ———— ——

m e ) nmw S ||

— () () S— 30

,.H s 00 ,.H e ()

-4 =m— {00 4 1
- B
< <
) )
a 7}

o) |

BB TR E 11225 3 FFREES

“

¥

FREEGE—Ad T B

!
|

5T HA ]

A

%

by Lt

.60
40
0.40
0.20

2.20
2.00
1.80

320

=1.00

20.80 -

+0.60

3

=]
—\r_
o

2.00 A

=]
v

(1Bt

g

55 T H R

28

A

%

75 3F A e I

00 -
50

1




E&

HA¥A BR3B aREC

¥5 T HY R

0.6 1

1Ay § 5T

SAl¥5A @R[3EB BRxC

H H
b k.
D0l B e S0l 5
[E000T = S
| il 0001 2
I 66w
I T T r T T
S o © o S
0 (=] (==} 0 (=]
N2 AN

w,dm w

v R

B s

3
=

29



E&

SR 3 A BB xB @R xC

!

S0T

Lot

o (e

s Enil I\Illlnn

W —

—

(T/3Un)E ™ g

W

o
BET

HAxEA @R 3B @8R 3C

— )
(T/8W)E Y UF & B o

HAl3sA BR¥B @R 3EC

&

[

30



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS &

0.6 1 SR 3EA BR 3B aRxC

(mg/L)
=~

N
<
[ 3]

—|1SEl2 24 i ] £ 5] ] o ] ] ] e
=== o Lond o] o 1= - | il

0.6 1 BA3EA BAXEB @AR3EC

e
.
1

¥ & A A G (mglL)
[}

AR oy =g Z1Z1=12)e o] ] [
T|=|= o [y =] cilci|ci
PR 3T RE|0E T 55 T H R
£ | Ar

0.6 A ERxA BRxEB @R xEC

e
I
L

'Fg # #ewi(mg/L)
[

2
05
07
2

011
T

1
2.02
2.05
2.07

04.03

07.06
07.09
07.10
08.02

7 3 (e T & T H R

B140 =R FA G BEEE Rl % SR

31




E&

=
i

Bl 112 £ 5 3 % L pldRs

SBR[ ARRABBARA#HC

55 T H# ]

i

e i
e

SR 3 ABR EBER 3 C

s

=

v

=]

W

Y pmEwE YT

o O

(== R

(TAW) & Y

=
=
Bl & 4

=

S A AQ R HEBE R #C

55 T H# ]

B s

© o =
[ N e N

(T/3w) & 3o e fy oL

2
o

LR 28]

®
=3

32



E&

SAl35A BA3EB B8R 35C

LL60

LO60

S060

£060

0180

r
™
<

o —
(1A B Wb T

SaxEA BR 3B aR#C

BA3EA BR3EB @RC

H Gl
& 2
.M E= MM 4=
E0001 &= 2
i ErE
i w
T T T = f T T

ag' ™ —
S (IS EWET B b

(1/3w)

0.2

i o 5

LR 28]

“*
=

33



8-
B
\;—

FREPE D FEERY-UBRBTRRF 12 5 3F T RIERE 1E &

SA35A @3 3B @R 3C
2 -
LA ARk A8 K ] AR E<2.0mg/L
15 A
c
2]
-
wn
05 ‘
SRR Rl == FIEEEEEE R
& T HA R
20 BAxA @A B @A xEC
AR IBK B K E 42 £ <2.0mg/L
1.5 4
c)
= 0
=
o
,g,_
0.5 - ‘I | ‘
b g gy L 5 T EA R
L Al
BAx5A @A xB @AxC
2.0 -
T HR i BOR A K B AR £<2.0mg/L
1.5 4
c)
= 0 -
=T
o
Irz_
0.5 - ‘l ‘
B iy et 5 T HA R
153 AT

Bl 43 =t s sk g B RS R R



BEIPBESF P I I T AR - DBRBETRRFI 125 35T RERS FEL

MRl A @R 3B BR3C
T #A Bk 38K H A% £<0.01 mg/L

0.01 -

0.008 H

0.006 H

i (mg/L)

4

20.004 -

BV

0.002

05.03
i
i

)5
15
0511
06.03
09.03

HAXARRB @A XC
T 3835 ok Bk H 42 <001 mg/L

0.010 H

=]

o

(o]
]

& G @ (mg/L)
> o @
o o
E=N o))

0.002

0.000

1303 fm

0403 j—

b ] [ ] i i ] ]l ] o] o = o] i) i) =) [ D) Lo e ] P () ] ] o ] o] ] e
==l=l<l< 2 1212l = e e R EEE = 2 2 EIEE = 2L L IS E S
#5 T HY R

SRxEA BR 3B @AEC
L # IRk A8 K H A% <00l mg/L

0.010 H

=]

o

[o7]
]

T e 0eL)_
o o ¢
g <

0.002

0.000

1 e ] Pl ] 1 o 0] = e o e ] P o] P o

55 T HEAR]

Bl 44 = s sk A T RIS 5 L ]

35



E&

BAXA @A B BRHEC

BRxEA@RB BAREC
BAxEA @R 3B 8BRxEC

= % il 8 ;
E0LO0L W ®

— 0 cc

SO0 SIEn

ik £090

1S “—
o S0G0 = 1150

SOS0L

E0SD

36

BB TR E 11225 3 FFREES

“

¥

T
: 2
-
= = [ [ = ' ' '
= = = = (=] =] o =
(TuoOT/NID) e B & S & T QSO:EE% W Rl B b

W45 AR A B FEE RS S R

FREEGE—Ad T B

ol
ot
™"




B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS E&

6 8) 55 AB R 55 B @] 35 C

T HA IR K B K UE AR #2<0.05

[ 1P | mlbesnn®e

= | glzlelelal=l=) olaleel=|olwls =] ol afs

S SEESEEEE EEEEEEEERERE
5 T E ]

87835 AR 5B B 35 C

T A B KBS K E AZ #£<0.05

o
%)
I

T

0.00 | ' TP
e o] = o] e = i) [ e o ) P o () o] P oy
1 ] I 1 o e e

e T HA R

SAA@RBBERANC
T #A i K Rl K R AR #<0.05

=
(98]
1

JF R B (mell)

o)
o) o
[ —
I
011 jm
D

A ra e W e
wjoo w0 L] Dl (o] Lo R

37



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS

E&

0.02

L& (me/L)
o

0.00

BRAGREBAREC

L 3R B oK B K AR #<0.01

02.05

=zlz e =] P o = P o )] ] o
2y | o ] e poul o =] == 1 <)

0.02

0.00

HRX»ABR EBARC

T 3R oK A8 AKUE AR #2<0.01

04,04
04,09

0810
09.03

08,08

55 T H R

0.02

0.00

BRHFARRHEBAEAEC

LR B Sk K E AZE #£<0.01

[ N
2 ] e o ] P 7 ] P = ] = 1o a5 8 ] a2 o ] ] o ]
i = | == | = i v Sl S o o | od] od | o] od | F F S = < < < <= . i i i

5T HEAN]

Bl A7  Jr=x /a8 K F4RE RLS % v 1Bl

38



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS E&

Bax5ABRR¥BBEAC
0.05 -
2 #R B KRR K H AR 2<0.05
0.04 -
§0.03 i
8
50.02 -
..L%
0.01 -
000 ||l .:rcn-—r'“.m:x:-—. = -—mm:x:-—ﬂmr&!wwmr*
Bax5 AB R 25BE A 35 C
0.05 -
001 T #R i K B8 K H 4R #2<0.05
'§0.03 ]
R
20.02 -
.B_
0.01 A
000 o] =] 1 bl e ] ] e Bl = —| e oo | — o3| || | )] =
0.05 BRGA@RSEB@AC
T FR oK RS K H 4R 72 <0.05
0.04 A
'§0.03 ]
£
20.02 -
l..l_
0.01 f
i 3 AEE 55 T H# )
% Al

Bl 48  FE=k 4 3K WAL R RLE % 0 R

39



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS

E&

0.000

0.002 ~

SA3EA @R¥NB @RxEc

T ¥R i3 OK RS K E AR 22<0.002

Fﬂ%ﬁL
&

hy =y (S0 [ g ] ] e ] ] g
1=lzlzls EEEEEE o[l

07—
T3 =

e
HY

55 T H R

0.002 -

SR xA @R x3%B @Rx3C

L HA T R KBS KR AZ #£<0.002

BT HA ]
SAlxsA @R¥3»B @BRlxC
0.002 1
L #R i 3K A8 K H A7 2 <0.002

55 T H# ]

R OE R R R R



BEIPBESF P I I T AR - DBRBETRRFI 125 35T RERS FEL

0.0400 BRA @RxB 8Rx3C

O #R i K B8 K T AR 2 <0.03
0.0300 A

0.0200 -

+ & $A(mg/L)

0.0100 A

0.0000 [ e e P
< — = == =EEHEEEHEEE
() | =l sl NS IS |S) () (]
L=l L=l | = | =] L=l
L) LA |

#5 T HY R

Al¥A BREB BRXC
0.0400

T 3R 15 3R K AR K H AR 22<0.03
0.0300

0.0200 o

¥ J& 47 (mg/L)

0.0100

0.0000 SURPPPY TH
(2 —ISIEEFEIEE

48T 1 6]

HA3EA BAXB BAC
0.0400 -

L FR M OK RS K E AR $<0.03
0.0300 A

0.0200 A

T & $A(mg/L)

0.0100 A

00000 - et s B M G S B W
) afury At ] ] ] ol o] ] e o] ] ]
=|= —l=EEFEREEFERERE
':fz 'Gﬁ‘\'cicicici o il el el ] ]

HiF| % Fe T H R

F150 ffr=c s sk o it % 0 )

41



BEIPBESF P I I T AR - DBRBETRRFI 125 35T RERS FEL

BRx3EA@BEBAA 3C

I —|= ] ] e ] s P e ) ) ] ey
= EE =EEEREE e

¥ T HY R
HAARBBA A 3C
0.0100 -
0.0080 1
gfﬂ.ooso |
=
K
:0.0040 -
5
0.0020 1
0.0000 - 1 .nnnnl-ll
' =) =[S 2 8 EREEEREEE
¥e T HY R

BRI ABBXSBE R 3C

o

=

=

o

S
J

o

o

=]

[

o
1

o

o

S

[

o
1

07 i

2,05 [
207 jmm

05,08 |

0511

05.05 =

08.05
08.08
0810

55 T H R

B151 Frkis sk AR Rl % R

42



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS E&

HA:EABREBARC

e

—

=]
)

O 3R i KR8 K ] A% F<0.1

J:%ﬁ’é (11.1 ) -
g &8 &

e

=]

W%
I

0.00 - . .
AZIE=EELERIZEEREIEERIEZSIEE=EEIZIZIEEREIEEZIZEIEEEEIEIZEEISEE LIS EE
o [ 5 e e e P e = e e
Ede iy L o= il
|
S8 35 A @R 35 B EA 3 C
0.10 -
R 3R KBS K E AR E<0.1
0.08 A
: 06 i
)
‘:ég‘
#:0.04 -
e
0.02 -
0.00 ael .
2l e o 158 1 1 1 e 1 o ) S S

SR ABREBEREC

TR HOKE AT AR E<0.1 mg/L

0.00 4 .
) ao=z|= SEEEEEEEIE L EEEEEEELEEEEEEEEZEREZEEEE S L=
loijefe S e o O e e B I e o e

Bl 52 Jr=x /a8 K F 4K RS % v 1Bl

43



B AAPEPIE D FEIERS-DBREETRFI N2 E5 3F T RIS

E&

0.50

) o
(79 =
= =y

o LALsH ()

—
=

B 3EA BRI 3EB @8R35 C

L FR i Bk B K T AR HE<05

000 .l_A [ [ | - a = a l
e L HY R
R x»A@RXBER3C
0.50 -
CHR R K AR K H AR 2 <0.5
0.40 -
§‘0.30 .
vy
52020 -
B
0.10 -
000 Il W [N B a » P - - =

)E:’ =
L = in
S < S

- F %ﬁ% (m

—
=

0.00

SR A@R HBERA3EC

L FR i Bk B K T AR HE<05

o omom al = - M = =
P =1 =1 i i Fl = = | = i e | ] (=] [e] [l (] Forgl o Fo o ol G P ] o . L] (]
=l =1 =3 =1 f=] [== f=] e [an] fan) (o) Do Do) fa] Lan [l [an] o) Do) o) Do) o)

== |

5 | 1T HR]

B153 fr=c i Bk FaE pls ot i1

44



B EAEBE YA TR A RS- DRBETRE U253 F TR &
DRI
juéiﬁiﬁtLﬁAaﬁ?ﬂ2379 21 p (L p)~22 p (Bp )3 (7> 48
TRE QS ) PFRRFARE A3 A~F S M PR B R G P RS
AR AR BRI M R R ARITI LR T ITE R
ERlSFFACR T80
2T TPREREILDE S
BB LA WE L e 4 R [ £ Cpeu/hn)[in 2 V(peu/hn)[iz € % £+ (VIC)[ris-k %
. A k. |1600~1700 3,704 312 0.08 A
BB AR " [jiis s v $0700~0800] 3,704 465 0.13 A
T , g g |FVF [ 1%]0700-0800] 6,331 572 0.09 A
* =% [T ¢ ke [0700~0800] 6,331 701 0.11 A
4 - gL B $3]1600~1700] 5836 2,000 0.34 A
s A b g U= akm [1700~1800] 5,836 1,558 0.27 A
A I 4 g |Hin = B:[1600~1700] 6,331 901 0.14 A
® 2B T4 9t [1800-1900] 6,331 303 0.05 A
oy BB [1600-1700] 6,331 1,154 0.18 A
S e e B e =% i = #0900~1000] 6,331 392 0.06 A
T s A% 7g [0700~0800] 3,852 32 0.01 A
" | A& % ¥ |0700~0800 3,852 44 0.01 A
g - g ) E 9 5{1700-1800] 5,967 4,905 0.82 D
S kEgrin - g || A-AFE [0700-0800] 7,956 10,552 1.33 F
A e A% 7g [0700~0800] 3,852 9,123 2.37 F
T | A4 % # |1600~1700 3,852 2,743 0.71 C
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PR SRS R 4 g |Hin = B:[1700~1800] 6,331 537 0.09 A
® 2 Tt [1400-1500] 6,331 336 0.05 A
s s [B7E [1600-1700/6,331 455 0.07 A
YRS b - MLip 7 = £:[1800~1900/6,331 818 0.13 A
s g [t [1800-19003,852 23 0.01 A
" A% % & |0800~0900[3,852 32 0.01 A
B ) £ % 3-/0700~080015,967 4,895 0.82 D
. {lﬁ:@ _[0700-0800[7,956 8,567 1.08 F
s jpgs |22 |0700-08003,852 6,005 1.56 F
/L4 % #.  |0700~0800|3,852 1,831 0.48 B
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AEBRROGORFTERPL2E T 14 P2 ERPEP ¢ 7 KR
pH DO ~BODs~COD~SS~ %28k~ 2% ~ & ¥ ~ B2¥v\§F ~ 7 B 4
B TARB SRR R e £ £HCu~Hg~Pb~2Zn-
Cd-Ni~Cr-As)» ERHF 55 F— = TR BLL B kTR e ; 2%

ERIEEDE ERIVHERE 2 RiRGEE o ERIEERFEL 1L

% 11 5 -KRE3Tie-k ?E BEEREE
op 3

p () e 1121142.;7.131i ek g R
kR (°C) 32.0 <38 —
pH 7.9 6~9 —
7 % E(mg/L) 7.8 — —
4 it 7 % E(mg/L) <1.0 30 20
vgz% §F(mg/lL) 4.3 100 60
5 748 (malL) 1.5 30 20
gk (mg/L) 0.126 — —
% (mg/L) 1.30 — —
% % (mg/L) 0.09 10 —
e g (mg/L) 0.57 — —
I % & (mg/L) N.D. —
y ai;s > Emng N.D. —
= Fl+>(mg N.D. —
;i = ¥>(mg/L) N.D. 05 —
F #r4>(mg/L) <0.00025 —
- &+~(mg/L) N.D. —
A B @ (mg/L) 3.20 — —
I A & # (mg/L) 0.018 — —

AL

(CFU/lO?mL) <10 — —
75 (mg/L) <1.0 10 —
i & (m¥S) 1.0 — —
& (mg/L) <0.0020(0.00049) 0.5 —
4§ (mg/L) N.D. 0.03 —
44 (mg/L) N.D. 2.0 —
& (mg/L) N.D. 0.005 —
4F (mg/L) <0.010(0.0044) 3.0 —
44.(mg/L) N.D. 1.0 —
&(mg/L) N.D. 1.0 —
#(mg/L) <0.010(0.0051) 5.0 —
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